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Not every number is included. You can decide which of the above words to use for 1, 3, 5 or 7 oktas.

Use the scale above to describe the cloud cover of these skies. The first one has been done for you.

About __________ oktas are covered.

There are ____________________.

About __________ oktas are covered.

There are ____________________.

About __________ oktas are covered.

It is ________________________.

About __________ oktas are covered.

There are ____________________.

six

few clouds

How much is covered with clouds? Describing words to use

eight oktas covered overcast

approximately six oktas covered broken clouds 

approximately four oktas covered scattered clouds

approximately two oktas covered few clouds

zero oktas covered clear


